

2022-2023 NIC-10 Varsity Girls

Tuesday 4:00 PM

Lanes 1 - 10

STANDINGS AND MORE: HIGH SCHOOL BOWLING SECTION OF WWW.BOWL815.COM
 LEAGUE SECRETARY ID: 130281 LANE PATTERN: HOUSE

USBC Certification: 112522

Team Standings

Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers	Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers
1	6	Harlem	9	0	1186	32136	1371	3766	6	2	Belvidere	3	6	909	24522	1077	2815
2	4	Hononegah	8	1	1139	30376	1226	3496	7	8	East	3	6	913	24465	1029	2944
3	9	Freeport	7	2	1017	27530	1108	3185	8	3	Belvidere North	3	6	841	22727	987	2769
4	7	Guilford	6	3	1013	27395	1170	3229	9	10	Jefferson	1	8	718	19196	808	2287
5	1	Auburn	5	4	964	25458	1081	3008	10	5	Boylan	0	9	367	9038	0	0

Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON	Team Name	-1-	-2-	-3-	Total	Last Wk WON
1-2	Belvidere North	808	822	735	2365	0	<---> East	861	918	927	2706	1
3-4	Freeport	972	1072	935	2979	1	<---> Belvidere	846	1077	892	2815	0
5-6	Guilford	1005	1011	1170	3186	1	<---> Auburn	1024	1011	968	3003	0
7-8	Hononegah	1161	1034	1216	3411	0	<---> Harlem	1137	1191	1203	3531	1
9-10	Jefferson	712	735	706	2153	1	<---> Boylan	315	258	291	864	0

Season High Scores

Scratch Game	1371	Harlem	1226	Hononegah	1170	Guilford
Scratch Series	3766	Harlem	3496	Hononegah	3229	Guilford

Bowlers must have completed a minimum of 1 games to be eligible for any league award.

Scratch Game

279	ALLISON ROBERTS
279	SARAH LEGOO
276	ASHLEY HARKEY
268	HAILEE KERR
259	ALYSSA NYE
259	MADISON DAVENPORT

Scratch Series

750	HAILEE KERR
722	ALLISON ROBERTS
704	DIEM BEACH
689	ASHLEY HARKEY
675	SARAH LEGOO

Team Rosters

1 - Auburn

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ANNIKA BROWN	4001	27	148	201	503	188	181	134	503
ALYSON BANNISTER	4207	27	155	219	595	129	149	145	423
ALYSSA NYE	4793	27	177	259	623	181	201	208	590
LIADAN GRAY	4875	27	180	236	616	213	173	189	575
KYLEE HORTON	2075	15	138	177	458	177	139	142	458
ALYSSA BALLARD	1998	12	166	203	541	136	168	150	454
MONTREECE CHAPMAN	3175	24	132	177	434				0
EMILY SHERMAN	334	3	111	128	334				0

2 - Belvidere

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ZOE GEHRKE	3456	24	144	205	486	117	186	130	433
MIA QUINTERO	4534	27	167	214	541	168	214	159	541
RILEY FREEMAN	4757	27	176	226	569	191	173	197	561
AUTUMN HOGAR	3866	27	143	191	517	110	191	141	442
ELIZA GUARNACCIA	3826	27	141	208	511	146	161	128	435
JASPER BAKER	3732	27	138	196	509	114	152	137	403
STEPHMARIE BAEZ	351	3	117	127	351				0

Tuesday 4:00 PM

Lanes 1 - 10

3 - Belvidere North

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ZOEE PAVLACK	4899	27	181	230	628	182	194	120	496
HANNAH BARTLETT	3799	27	140	218	514	127	117	131	375
JACQUELINE VANFLEET	4696	27	173	225	606	176	166	141	483
KAYLA KNOEPFLE	2959	24	123	152	423	140	135	120	395
DANIELLE SANCHEZ	2609	24	108	145	406	79	67	114	260
ABBIGALE FENNESSY	2560	22	116	144	393	104	143	109	356
ALICIA DOWNEY	874	8	109	142	343				0
DORIANNA MIEROW	331	3	110	161	331				0

4 - Hononegah

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
EMILEE MULLRANIN	5152	27	190	244	669	183	163	213	559
CASSIDY DAVENPORT	5211	27	193	232	652	175	181	200	556
MADISON DAVENPORT	5544	27	205	259	668	222	182	196	600
KATELIN MULLRANIN	4848	27	179	224	584	179	178	170	527
SAMANTHA SWEENEY	2273	12	189	236	654	232	186	236	654
PIPER ENNETT	4951	27	183	234	642	170	144	201	515
INGRID ROESKE	2397	15	159	194	517				0

5 - Boylan

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
KENNEDY HUGHES	4108	27	152	222	570	165	150	139	454
DESTINY RIVAS	3127	27	115	152	415	150	108	152	410
MICHELLE GORNICKI	1803	18	100	139	362				0

6 - Harlem

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
STEPHANIE WINDSOR	4422	24	184	221	619	200	214	179	593
MIRANDA KLENZ	5085	27	188	226	644	179	174	226	579
HAILEE KERR	5629	27	208	268	750	182	235	193	610
ASHLIN TEVES	5411	27	200	258	670	212	194	198	604
HANNAH HERDKLOTZ	5204	27	192	238	621	167	191	238	596
ALLISON ROBERTS	5793	27	214	279	722	197	183	169	549
ALEXIS BORN	592	3	197	227	592				0

7 - Guilford

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
MADLINE WILLIFORD	3401	24	141	192	514	140	137	168	445
LEANN SEVERSON	4890	27	181	235	610	216	191	203	610
SARAH LEGOO	5542	27	205	279	675	190	190	269	649
SAJA RAZICK	4335	27	160	245	584	163	146	183	492
SERENITY ANDERSON	4193	27	155	232	567	145	200	178	523
SOFIA KOLKEY	4618	27	171	211	568	151	147	169	467
JUSTYCE VONGPHAKDY	416	3	138	147	416				0

8 - East

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ASHLEY HARKEY	5105	27	189	276	689	166	167	181	514
ALONDRA RAZO	3743	27	138	174	472	135	153	159	447
BRISA TAFOLLA	2360	18	131	175	468	116	120	117	353
MADISON ANDERSON	4055	27	150	203	484	156	136	108	400
ALONDRA GONZALEZ	3384	24	141	220	561	162	179	220	561
TRINITY SWAN	4440	27	164	232	540	126	163	142	431
BAILY CARLSON	383	3	127	141	383				0
MIYA WALKER	710	6	118	141	373				0

Tuesday 4:00 PM

Lanes 1 - 10

9 - Freeport

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
MADDIE DAVISON	4679	27	173	220	585	164	156	179	499
HANNA MARTIN	3553	24	148	189	517	145	159	145	449
CAMEREN PLOWMAN	4765	27	176	224	588	181	182	172	535
KATELYN SAXBY	4624	27	171	226	558	174	226	158	558
MERCEDES RICO	4427	27	163	216	597	174	168	135	477
DIEM BEACH	5048	27	186	255	704	134	181	146	461
WHITNEY SCHEBERGER	434	3	144	151	434				0

10 - Jefferson

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
HANNAH STOKES	3094	24	128	183	459	130	146	128	404
MACKENZIE LONG	2807	27	103	142	359	90	103	120	313
FALLON PERRY	4179	24	174	237	546	222	158	160	540
EMILY WILSON	2455	24	102	146	336	81	125	93	299
DELANIE PALMER	1464	15	97	136	329	76	108	92	276
FRANCESCA SIROTZKI	3089	27	114	135	395	113	95	113	321
SOPHIA CASTRO	1816	18	100	147	381				0
SOFIA LOFRANCO	292	3	97	107	292				0

Average List of All Members of This League

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
ALLISON ROBERTS	5793	27	214	279	722	197	183	169	549
HAILEE KERR	5629	27	208	268	750	182	235	193	610
MADISON DAVENPORT	5544	27	205	259	668	222	182	196	600
SARAH LEGOO	5542	27	205	279	675	190	190	269	649
ASHLIN TEVES	5411	27	200	258	670	212	194	198	604
ALEXIS BORN	592	3	197	227	592				0
CASSIDY DAVENPORT	5211	27	193	232	652	175	181	200	556
HANNAH HERDKLOTZ	5204	27	192	238	621	167	191	238	596
EMILEE MULLRANIN	5152	27	190	244	669	183	163	213	559
SAMANTHA SWEENEY	2273	12	189	236	654	232	186	236	654
ASHLEY HARKEY	5105	27	189	276	689	166	167	181	514
MIRANDA KLENZ	5085	27	188	226	644	179	174	226	579
DIEM BEACH	5048	27	186	255	704	134	181	146	461
STEPHANIE WINDSOR	4422	24	184	221	619	200	214	179	593
PIPER ENNETT	4951	27	183	234	642	170	144	201	515
ZOEE PAVLACK	4899	27	181	230	628	182	194	120	496
LEANN SEVERSON	4890	27	181	235	610	216	191	203	610
LIADAN GRAY	4875	27	180	236	616	213	173	189	575
KATELIN MULLRANIN	4848	27	179	224	584	179	178	170	527
ALYSSA NYE	4793	27	177	259	623	181	201	208	590
CAMEREN PLOWMAN	4765	27	176	224	588	181	182	172	535
RILEY FREEMAN	4757	27	176	226	569	191	173	197	561
FALLON PERRY	4179	24	174	237	546	222	158	160	540
JACQUELINE VANFLEET	4696	27	173	225	606	176	166	141	483
MADDIE DAVISON	4679	27	173	220	585	164	156	179	499
KATELYN SAXBY	4624	27	171	226	558	174	226	158	558
SOFIA KOLKEY	4618	27	171	211	568	151	147	169	467
MIA QUINTERO	4534	27	167	214	541	168	214	159	541
ALYSSA BALLARD	1998	12	166	203	541	136	168	150	454
TRINITY SWAN	4440	27	164	232	540	126	163	142	431
MERCEDES RICO	4427	27	163	216	597	174	168	135	477
SAJA RAZICK	4335	27	160	245	584	163	146	183	492
INGRID ROESKE	2397	15	159	194	517				0
ALYSON BANNISTER	4207	27	155	219	595	129	149	145	423
SERENITY ANDERSON	4193	27	155	232	567	145	200	178	523
KENNEDY HUGHES	4108	27	152	222	570	165	150	139	454
MADISON ANDERSON	4055	27	150	203	484	156	136	108	400
ANNIKA BROWN	4001	27	148	201	503	188	181	134	503
HANNA MARTIN	3553	24	148	189	517	145	159	145	449

Tuesday 4:00 PM

Lanes 1 - 10

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
WHITNEY SCHEBERGER	434	3	144	151	434				0
ZOE GEHRKE	3456	24	144	205	486	117	186	130	433
AUTUMN HOGAR	3866	27	143	191	517	110	191	141	442
MADLINE WILLIFORD	3401	24	141	192	514	140	137	168	445
ELIZA GUARNACCIA	3826	27	141	208	511	146	161	128	435
ALONDRA GONZALEZ	3384	24	141	220	561	162	179	220	561
HANNAH BARTLETT	3799	27	140	218	514	127	117	131	375
JUSTYCE VONGPHAKDY	416	3	138	147	416				0
ALONDRA RAZO	3743	27	138	174	472	135	153	159	447
KYLEE HORTON	2075	15	138	177	458	177	139	142	458
JASPER BAKER	3732	27	138	196	509	114	152	137	403
MONTREECE CHAPMAN	3175	24	132	177	434				0
BRISA TAFOLLA	2360	18	131	175	468	116	120	117	353
HANNAH STOKES	3094	24	128	183	459	130	146	128	404
BAILY CARLSON	383	3	127	141	383				0
KAYLA KNOEPFLE	2959	24	123	152	423	140	135	120	395
MIYA WALKER	710	6	118	141	373				0
STEPHMARIE BAEZ	351	3	117	127	351				0
ABBIGALE FENNESSY	2560	22	116	144	393	104	143	109	356
DESTINY RIVAS	3127	27	115	152	415	150	108	152	410
FRANCESCA SIROTZKI	3089	27	114	135	395	113	95	113	321
EMILY SHERMAN	334	3	111	128	334				0
DORIANNA MIEROW	331	3	110	161	331				0
ALICIA DOWNEY	874	8	109	142	343				0
DANIELLE SANCHEZ	2609	24	108	145	406	79	67	114	260
MACKENZIE LONG	2807	27	103	142	359	90	103	120	313
EMILY WILSON	2455	24	102	146	336	81	125	93	299
SOPHIA CASTRO	1816	18	100	147	381				0
MICHELLE GORNICKI	1803	18	100	139	362				0
DELANIE PALMER	1464	15	97	136	329	76	108	92	276
SOFIA LOFRANCO	292	3	97	107	292				0

Temporary Substitutes

Name	Pins	Gms	Avg	Book Avg	Name	Pins	Gms	Avg	Book Avg
------	------	-----	-----	-------------	------	------	-----	-----	-------------